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Chapter 5 Review
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3. Solve the following quadratic inequalities.

a) x2+12x+20=>0
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{Draw a rough sketch—it will help)
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4. Create an inequality that has the solution x > 4 and x < —2. Show solution in general form.

X=4

X= -2

(x-1)(x+2)>0
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5. Create an inequality that has the solution —2 < x < 1. Show solution in general form.
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7. Two numbers are related below:
( When twice the second number is subtracted from the first number, the result is —11
@ The square of the sum of the first number and 2 is equal four less than the second number

a) Create a system of equations to represent this inequality (2 marks)
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8. A stuntman jumped from an elevation of 500 m and was in free fall before he opened his parachute.
His elevation, h metres, t seconds after jumping is modeled by these equations:
h = —4.9t% + 2t + 500, before the parachute was opened
h = —5t + 188, after the parachute was opened
a) How many seconds after the stuntman jumped did he open the parachute?
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b) What was his elevation when he opened the parachute?
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